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m m m2 m2 m3 m2 m2 m3

BP 0.00 0.00 1.2 0.0
NO.0+10.00 10.00  10.00 1.6 1.40 14.0 0.0 0.00 0.0
BC. 1 21.45  11.45 2.5 2.05 23.5 0.0 0.00 0.0
SP. 1 24. 2] 2.82 2.5 2.50 1.1 0.0 0.00 0.0
EC. 1 21.09 2.82 2.4 2.45 6.9 0.0 0.00 0.0
BC. 2 34.04 6.95 1.4 1.90 13.2 0.1 0.05 0.3
SP.2 40. 43 6. 39 0.7 1.05 6.7 4 0.25 1.6
EC. 2 46. 81 6.38 0.6 0.65 4.1 0.4 0.40 2.6
NO. 3 60.00 13.19 0.7 0.65 8.6 0.4 0.40 9.3
BC. 3 68. 47 8.41 0.8 0.75 6.4 0.3 0.35 3.0
SP.3 16. 16 1. 69 0.6 0.70 5.4 0.5 0.40 3.1
EC. 3 83. 86 1.170 0.7 0.65 5.0 0.2 0.35 2.1
BC. 4 94.43  10.57 0.9 0.80 8.5 0.0 0.10 1.1
SP. 4 100. 67 6.24 0.7 0.80 5.0 0.0 0.00 0.0
EC. 4 106. 90 6. 23 0.5 0.60 3.1 0.2 0.10 0.6
BC. 5 112. 81 9. 91 0.5 0.50 3.0 0.4 0.30 1.8
SP.5 117.58 4. 71 0.5 0.50 2.4 0.4 0.40 1.9
EC. 5 122. 35 4. 71 0.7 0.60 2.9 0.1 0.25 1.2
BC. 6 126. 58 4.23 1.0 0.85 3.6 0.1 0.10 0.4
SP. 6 132.53 9.95 0.6 0.80 4.8 0.2 0.15 0.9
EC. 6 138. 49 5. 96 0.7 0.65 3.9 0.1 0.15 0.9
NO. 7+10.00 150.00 = 11.51 0.8 0.75 8.6 0.0 0.05 0.6
IP. 7 169.59 = 19.59 0.8 0.80 15.7 0.0 0.00 0.0
IP. 8 183.80  14.21 0.7 0.75 10.7 0.1 0.05 0.7
NO.9+15.00 195.00  11.20 0.8 0.75 8.4 0.1 0.10 1.1
IP.9 207. 21 12. 21 0.9 0.85 10. 4 0.1 0.10 1.2
BC. 10 216. 44 9.23 0.9 0.90 8.3 0.0 0.05 0.5

N 200. 8 31.5
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m m m2 m2 m3 m2 m2 m3

BC. 10 216. 44 9.23 0.9 0.0
SP. 10 220. 56 4.12 0.8 0.85 3.5 0.0 0.00 0.0
EC. 10 224. 68 4.12 0.7 0.75 3.1 0.0 0.00 0.0
NO. 11+12.00 232.00 1.32 1.0 0.85 6.2 0.0 0.00 0.0
IP. 11 245.30  13.30 1.2 1.10 14.6 0.0 0.00 0.0
BC. 12 255.80  10.50 1.5 1.35 14.2 0.0 0.00 0.0
SP.12 262. 57 6. 77 1.5 1.50 10.2 0.0 0.00 0.0
EC. 12 269. 35 6.78 1.2 1.35 9.2 0.0 0.00 0.0
IP. 13 213.170 4.35 1.3 1.25 5.4 0.0 0.00 0.0
IP. 14 282.12 8.42 1.4 1.35 11.4 0.0 0.00 0.0
BC. 15 284. 28 2.16 1.6 1.50 3.2 0.0 0.00 0.0
SP. 15 289. 44 5. 16 1.9 1.75 9.0 0.0 0.00 0.0
EC. 15 294. 59 9.15 1.6 1.75 9.0 0.0 0.00 0.0
IP. 16 299. 26 4.67 1.2 1.40 6.5 0.0 0.00 0.0
IP. 17 307. 85 8. 99 0.6 0.90 1.1 0.2 0.10 0.9
NO. 16 320.00 12.15 0.8 0.70 8.5 0.1 0.15 1.8
BC. 18 328. 46 8. 46 1.0 0.90 1.6 0.1 0.10 0.8
SP.18 332.18 3.72 1.4 1.20 4.5 0.0 0.05 0.2
EC. 18 335. 89 3.1 1.5 1.45 5.4 0.0 0.00 0.0
EP 341.50 5. 61 1.1 1.30 1.3 0.0 0.00 0.0

N 146.5 3.1

m3 m3
a8 & 341.3 35.2
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m m m m m2 m m m2

BP 0.00 0.0 0.0
NO.0+10.00 10.00  10.00 2.2 1.10 11.0 0.0 0.00 0.0
BC. 1 21.45  11.45 3.4 2.80 32.1 0.0 0.00 0.0
SP. 1 24. 2] 2.82 3.5 3. 45 9.7 0.0 0.00 0.0
EC. 1 21.09 2.82 3.5 3. 50 9.9 0.0 0.00 0.0
BC. 2 34.04 6.95 2.1 2.80 19.5 0.3 0.15 1.0
SP.2 40. 43 6. 39 0.4 1.25 8.0 1.2 0.75 4.8
EC. 2 46. 81 6.38 0.0 0.20 1.3 1.5 1.35 8.6
NO. 3 60.00 13.19 0.0 0.00 0.0 1.8 1.65 21.8
BC. 3 68. 47 8.41 0.0 0.00 0.0 1.4 1. 60 13.6
SP.3 16. 16 1. 69 0.0 0.00 0.0 1.6 1.50 11.5
EC. 3 83. 86 1.170 0.0 0.00 0.0 0.7 1.15 8.9
BC. 4 94.43  10.57 0.1 0.05 0.5 0.0 0.35 3.1
SP. 4 100. 67 6.24 0.0 0.05 0.3 0.0 0.00 0.0
EC. 4 106. 90 6. 23 0.0 0.00 0.0 0.6 0.30 1.9
BC. 5 112. 81 9. 91 0.0 0.00 0.0 0.3 0.45 2.1
SP.5 117.58 4. 71 0.0 0.00 0.0 0.3 0.30 1.4
EC. 5 122. 35 4. 71 0.0 0.00 0.0 0.4 0.35 1.7
BC. 6 126. 58 4.23 0.3 0.15 0.6 0.3 0.35 1.5
SP. 6 132.53 9.95 0.0 0.15 0.9 0.6 0.45 2.1
EC. 6 138. 49 5. 96 0.0 0.00 0.0 0.3 0.45 2.1
NO. 7+10.00 150.00 = 11.51 0.0 0.00 0.0 0.0 0.15 1.7
IP. 7 169.59 = 19.59 0.0 0.00 0.0 0.0 0.00 0.0
IP. 8 183.80  14.21 0.0 0.00 0.0 0.2 0.10 1.4
NO.9+15.00 195.00  11.20 0.0 0.00 0.0 0.4 0.30 3.4
IP.9 207. 21 12. 21 0.0 0.00 0.0 0.3 0.35 4.3
BC. 10 216. 44 9.23 0.2 0.10 0.9 0.0 0.15 1.4

N 94.1 100. 7
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m m m m m2 m m m2

BC. 10 216. 44 9.23 0.2 0.0
SP. 10 220. 56 4.12 0.3 0.25 1.0 0.0 0.00 0.0
EC. 10 224. 68 4.12 0.0 0.15 0.6 0.0 0.00 0.0
NO. 11+12.00 232.00 1.32 0.3 0.15 1.1 0.0 0.00 0.0
IP. 11 245.30  13.30 0.7 0.50 6.7 0.0 0.00 0.0
BC. 12 255.80  10.50 0.7 0.70 1.4 0.0 0.00 0.0
SP.12 262. 57 6. 77 1.5 1.10 1.4 0.0 0.00 0.0
EC. 12 269. 35 6.78 2.1 2.10 14.2 0.0 0.00 0.0
IP. 13 213.170 4.35 0.9 1.80 1.8 0.0 0.00 0.0
IP. 14 282.12 8.42 2.3 1. 60 13.5 0.0 0.00 0.0
BC. 15 284. 28 2.16 2.3 2.30 5.0 0.0 0.00 0.0
SP. 15 289. 44 9.16 1.8 2.05 10.6 0.0 0.00 0.0
EC. 15 294. 59 9.15 1.0 1.40 1.2 0.0 0.00 0.0
IP. 16 299. 26 4.67 1.7 1.35 6.3 0.0 0.00 0.0
IP. 17 307. 85 8. 99 0.0 0.85 1.3 0.5 0.25 2.1
NO. 16 320.00 12.15 0.0 0.00 0.0 0.5 0.50 6.1
BC. 18 328. 46 8. 46 0.0 0.00 0.0 0.2 0.35 3.0
SP.18 332.18 3.72 0.2 0.10 0.4 0.0 0.10 0.4
EC. 18 335. 89 3.1 1.0 0.60 2.2 0.0 0.00 0.0
EP 341.50 5. 61 0.0 0.50 2.8 0.1 0.05 0.3

N 101.5 11.9

m2 m2
8 F 196.2 112.6
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m m m2 m2 m3
0.0 0.00 0.00 0.0
6.0 6.00 6.00 0.1 0.05 0.3
IP. 1 11.19 5.19 0.1 0.10 0.5
20.0 20.00 8. 81 0.1 0.10 0.9
IP.2 25.52 5.52 0.1 0.10 0.6
33.0 33.00 7.48 0.1 0.10 0.7
40.0 40. 00 7.00 0.1 0.10 0.7
45.0 45.00 5.00 0.1 0.10 0.5
52. 62 52. 62 1.62 0.1 0.10 0.8
m3
& § 5.0
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m m m2 m2 m3
0.0 0.00 0.00 0.1
10.0 10. 00 10. 00 0.1 0.10 1.0
15.0 15.00 5.00 0.1 0.10 0.5
20.0 20.00 5.00 0.1 0.10 0.5
26. 39 26. 39 6.39 0.1 0.10 0.6
m3
& 2.6
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m m m2 m2 m3 m2 m2 m3

BP 0.00 0.00 0.4 0.1
NO.0+10.00 10.00  10.00 0.6 0.50 5.0 0.1 0.10 1.0
BC. 1 21.45  11.45 0.6 0.60 6.9 0.1 0.10 1.1
SP. 1 24. 2] 2.82 0.7 0.65 1.8 0.1 0.10 0.3
EC. 1 21.09 2.82 0.7 0.70 2.0 0.1 0.10 0.3
BC. 2 34.04 6.95 0.4 0.55 3.8 0.1 0.10 0.7
SP.2 40. 43 6. 39 0.4 0. 40 2.6 0.1 0.10 0.6
EC. 2 46. 81 6.38 0.4 0.40 2.6 0.1 0.10 0.6
NO. 3 60.00 13.19 0.4 0. 40 5.3 0.1 0.10 1.3
BC. 3 68. 47 8.41 0.4 0. 40 3.4 0.1 0.10 0.8
SP.3 16. 16 1. 69 0.4 0. 40 3.1 0.1 0.10 0.8
EC. 3 83. 86 1.170 0.4 0. 40 3.1 0.1 0.10 0.8
BC. 4 94.43  10.57 0.4 0.40 4.2 0.1 0.10 1.1
SP. 4 100. 67 6.24 0.4 0.40 2.5 0.1 0.10 0.6
EC. 4 106. 90 6. 23 0.3 0.35 2.2 0.1 0.10 0.6
BC. 5 112. 81 9. 91 0.3 0.30 1.8 0.1 0.10 0.6
SP.5 117.58 4. 71 0.3 0.30 1.4 0.1 0.10 0.5
EC. 5 122. 35 4. 71 0.4 0.35 1.7 0.1 0.10 0.5
BC. 6 126. 58 4.23 0.5 0.45 1.9 0.1 0.10 0.4
SP. 6 132.53 9.95 0.4 0.45 2.1 0.1 0.10 0.6
EC. 6 138. 49 5. 96 0.4 0. 40 2.4 0.1 0.10 0.6
NO. 7+10.00 150.00 = 11.51 0.4 0. 40 4.6 0.1 0.10 1.2
IP. 7 169.59 = 19.59 0.4 0. 40 1.8 0.1 0.10 2.0
IP. 8 183.80  14.21 0.4 0. 40 5.1 0.1 0.10 1.4
NO.9+15.00 195.00  11.20 0.4 0.40 4.5 0.1 0.10 1.1
IP.9 207. 21 12. 21 0.4 0.40 4.9 0.1 0.10 1.2
BC. 10 216. 44 9.23 0.5 0.45 4.2 0.1 0.10 0.9

N 92.1 21.6
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m m m2 m2 m3 m2 m2 m3

BC. 10 216. 44 9.23 0.5 0.1
SP. 10 220. 56 4.12 0.4 0.45 1.9 0.1 0.10 0.4
EC. 10 224. 68 4.12 0.4 0. 40 1.6 0.1 0.10 0.4
NO. 11+12.00 232.00 1.32 0.5 0.45 3.3 0.1 0.10 0.7
IP. 11 245.30  13.30 0.5 0.50 6.7 0.1 0.10 1.3
BC. 12 255.80  10.50 0.5 0.50 5.3 0.1 0.10 1.1
SP.12 262. 57 6. 77 0.4 0.45 3.0 0.1 0.10 0.7
EC. 12 269. 35 6.78 0.5 0.45 3.1 0.1 0.10 0.7
IP. 13 213.170 4.35 0.5 0.50 2.2 0.1 0.10 0.4
IP. 14 282.12 8.42 0.5 0.50 4.2 0.1 0.10 0.8
BC. 15 284. 28 2.16 0.5 0.50 1.1 0.1 0.10 0.2
SP. 15 289. 44 5. 16 0.6 0.55 2.8 0.1 0.10 0.5
EC. 15 294. 59 9.15 0.6 0.60 3.1 0.1 0.10 0.5
IP. 16 299. 26 4.67 0.5 0.55 2.6 0.1 0.10 0.5
IP. 17 307. 85 8. 99 0.3 0.40 3.4 0.1 0.10 0.9
NO. 16 320.00 12.15 0.4 0.35 4.3 0.1 0.10 1.2
BC. 18 328. 46 8. 46 0.5 0.45 3.8 0.1 0.10 0.8
SP.18 332.18 3.72 0.5 0.50 1.9 0.1 0.10 0.4
EC. 18 335. 89 3.1 0.6 0.55 2.0 0.1 0.10 0.4
EP 341.50 5. 61 0.5 0.55 3.1 0.1 0.10 0.6

N 99.4 12.5

m3 m3
a8 & 151.5 34.1
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m m m2 m2 m3 m2 m2 m3
0.0 0.00 0.00 0.5 0.2
6.0 6.00 6.00 0.4 0.45 2.1 0.1 0.15 0.9
IP. 1 11.19 5.19 0.4 0. 40 2.1 0.1 0.10 0.5
20.0 20.00 8. 81 0.4 0. 40 3.5 0.1 0.10 0.9
IP.2 25.52 5.52 0.4 0. 40 2.2 0.1 0.10 0.6
33.0 33.00 7.48 0.4 0. 40 3.0 0.1 0.10 0.7
40.0 40. 00 7.00 0.4 0. 40 2.8 0.1 0.10 0.7
45.0 45.00 5.00 0.4 0. 40 2.0 0.1 0.10 0.5
52. 62 52. 62 1.62 0.4 0.40 3.0 0.1 0.10 0.8
m3 m3
& § 21.3 5.6
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R BANEERE | S RARERE| BrEIE FHEE £ = BrmEmiE TFHmEE X =
m m m2 m2 m3 m2 m2 m3
0.0 0.00 0.5 0.1
10.0 10. 00 10. 00 0.4 0.45 4.5 0.1 0.10 1.0
15.0 15.00 5.00 0.4 0. 40 2.0 0.1 0.10 0.5
20.0 20.00 5.00 0.4 0. 40 2.0 0.1 0.10 0.5
26. 39 26. 39 6.39 0.4 0. 40 2.6 0.1 0.10 0.6
m3 m3
& 11.1 2.6
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65 Kt 1.0 X 1.0 m’ 1
TSRk 1.0 X 1.0 m’ 1
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A =R3VHY-p 18-8-25BB V = 0.05x0.57x10.00™ = m’ 0. 29
A =Ry E A =0.05x2x10.00™ = m? 1.0
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